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2.

An animal cell, a plant cell and a

bacterium  share the following

structural features:

|. Cell membrane, endoplasmic
reticulum, vacuoles

2. Cell wall, plasma membrane,

mitochondria
3. Cell wall, nucleus, cytoplasm
_4- Plasma membrane, cytoplasm,
ribosomes

Given below are figures of three kinds
of muscle fibres.

1.

wF W HeE, A wIEE qel
Sarv ga &9 A Frefien aEes
aem weifa F &

. HiferRr-Fen, Hassl sieren, R
2. sifeEm-fasht, waea-faee,

RLECEDED
3. FIRTHR-fadl, s, HIHEA

4. w-faeel!, wifvrrsea, agaEm

A & THR & 990 dgail & faA el
™ €

Which one/ones would you find in the
grass hopper’s legs?

1. Aonly
2. Bonly
3. AandC
4. BandC

A plant that has well differentiated
body, special tissues for transport of
water and other substances, but does
not have seed or fruits is a(n):

1. Bryophyte

2. Angiosperm
3 Gymnosperm
4. Pteridophyte

o @ P @ W o § T wm
2l

1
2
3.ATHC
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Raju was suffering from severe
stomach pain and the doctor diagnosed
that he was suffering from peptic
ulcers and treated him with antibiotics.
He was relieved of pain. What could
be the reason for peptic ulcers?

1. Reduced secretion of hormones.
2. Reduced water content.

3 Growth of Helicobacter pylori.

4. Excess secretion of enzyme.

The average temperature of the Earth
remains fairly steady as compared to
that of the moon because of the

¥ atmosphere.

2. lithosphere.

(8]

biosphere.

R

hydrosphere.

In flowers, which one of the following
conditions will increase chances of
self-pollination?

I. Pistil is longer than stamens in a

tflower,
\ 2~ Stamens are just above the stigma

of a pistil in a flower,

3. In all flowers of the plant only
pistil is present.

4. In all flowers of the plant only
stamens are present,

4.

9 9 52 ¥ difgd o, T 3 99 W
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Photosynthesis in an aquatic plant was
measured by counting the number of
0, bubbles coming out of the cut end
of the plant. What will happen to O;
production if you use a pipe to blow
air from your mouth into water in the
beaker?

B,

o El *Ie:l-‘

7. @& weig TRY ¥ 9RY & & fat §

Frpe arell aieE & gogen ® G
fiF# WHTY GYANUl 1 SR (Rl
A 31 afe amg At ° Sufee ot d
qE g0 WEY ¥ Sg 9N A e
IERA FH F T2

:'_._‘1__;_: )

1. Air from mouth contains O; which
is being added to the plant. Hence
increase in Oz production.

2. Air from mouth contains CO2
which is utilized in photosynthests.
Hence increase in O production.

3. Bacteria from mouth will infect
plant. Hence reduction in O
production.

\_Q/Wﬁfer is already in contact with
air. Hence air from mouth will
have no effect.

. @ R 95 W a9 W el et
2 W wrw § wfinfaa e 21 o
A IAEA N agRT 2

2. 4g g i W€ Ay # CO, T ¥
WHTSI-TYEN0 & foaq 3w § o ?
F: 0, % IEIEA H Sgr B
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4. W, T % Ted U € gok ¥ ? oW
g ®! 9 F KIS g9 T B



9.

A person with blood group ‘A’
can donate blood to the persons
with  blood group 'A' or 'AB’
because it
~-1. has both 'A' and 'B' antigens.
2. has only 'A' antigen and 'B’
anttbodies.
3. has only 'B' antigen and 'A'
antibodies.
4. does not have any antigens and
antibodies.
What would happen to the person if
cerebellum of his brain is damaged?
1. He will lose his memory power.
2. He will not be able to swallow
food properly.
‘37 He will be unable to coordinate
and stand properly.
4. He will lose his powers of vision
and hearing.
Which of the following statements are
correct?
A. Tapeworms are hermaphrodites
and undergo self-fertilization.
B. Earthworms are hermaphrodites
and undergo seif-fertilization.
C. Tapeworms are hermaphrodites but
undergo cross-fertilization.
D. Earthworms are hermaphrodites
but undergo cross-fertilization
I. Aand B
2. BandC
3. CandD
4, Dand A
M

10.
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11-12 A group of red beetles lives on green

12.

13.

leaves of a tree. Beetles multiply
through sexual reproduction. One day,
some green beetles are seen among the
red beetles. Green beetles breed to
produce green progeny. Crows on the
tree eat beetles.

Some green beetles appear among the
red beetle because

. beetles become green by
accumulating chlorophyll from the
green leaves that they eat.

—27 natural variations occur during

sexual reproduction.

3. red beetles mimic green colour of
leaves whenever they see crows.

4. beetles change colour from red to
green with change of season.

The colour composition of beetle
population is likely to change in the
following manner:

1. Both red and green beetle survive
equally.

2. Only the red beetle survives.

3. More red beetlies survive than the
green.

A4 More green beetles survive than

the red.

In the following food chain who gets
less energy than the tertiary consumer
and more than the primary consumer?

Grass—» Grasshopper—» Frog—» Snake—Eagle

1. Grasshopper
2. Frog
3. Snake

\/4{ Eagle

11-12. /4 9§71 1 TF §Y8 TF I& H &l
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14. If a non-degradable and fat soluble 14. afifiweoiig e T & ﬂ?ﬁ?ﬂﬁ A

pollutant, such as DDT enters the food . .
chain, the pollutant ¢ @ @ A, ww gEar § wWa =@
? @ W

Vl./magniﬁes in concentration at each .
I WA YRE WE ®R W Fardd

trophic level.
2. degrades at first trophic level. o 2
3. accumulates in the body fat of 2. UUY UyE =R R faufea g #
organism at first trophic level and 3. TUT 9NE R T AT F IR H
?e(:f] .nol pass to second trophic mﬁ T @1 & 9o BR
4. decreases in concentration at each Ao T W T T e
trophic level. 4. UOH Uoh TR R $HH] G5l FAH
B
15. A drop each of two non-corrosive and 15, T HEUHRF d A3ueld %l A W B F
non-irritating liquids A and B at a TH-T&F 93 6l o |/ @1 I 2t 5a
temperature of 22 C are placed on the A %9 B I g § afuw viwer #
skin. Liquid A gives a more cooling A ‘B &
sensation than liquid B.Which of the A ! w9 AT B_
following can be said about the liquids e = wer w1 W 21
A and B?

1. T4 A F1 F9U9F 59 B § atfuw 2

I. Liquid A has higher boiling point
! 3 &P 2. 9 A Wi a%9F &I T9 $, 59 B

than that of liquid B.

2. Liquid A has higher latent heat of g afaw |
vaporisatton than that of liquid B. 3. %9 A R A9 H TE FW, 59 B
37 Liquid A has lower latent heat of 3 =7 3

vaporisation than that of liquid B.
4. The boiling points of liquid A and
B are equal.

4 T A TS 39 B & FEUTEF WA T

16.  There is a mixture of three solid 16. & A 3/ Afiel A, Bwd C &1 fasm

compounds A, B and C. Qut of these 2 399 Aifs A @ C 9a o fasg #
compounds A and C are soluble in T C TeEgEEm o ¥ o wuE
water and compound C is sublimable > g F qE
also. In what sequence the following gorFRT % fon Lol Al
techniques can be used for their v fFn =1 s )
' ion? .

effective separation’ L. Frea
]:' gil:)rlgtio?_ [1. SEETTEE

. ubhmation f ﬁ
Il Crystallisation from water extract L. . H fir
IV. Dissolution in water V. 5@ 4§ faeta

L. (1D, (), V), (111 1. (D, (D, (1V), (1)
2 (V) (), (1), (1) 2. @1V), (D), D), (1)
3. (1), (D), (), (IV) 3. (D), (I, (ITD), (IV)
4. (1D, (AV), (D), (111 4. (1D, AV), (O, (11D
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17.

18.

Which of the following is a suitable
example for illustrating the law of
conservation of mass? (Atomic mass
of 0=16; H=1)

4+ 18g of water is formed by the

combination of 16g oxygen with
2g of hydrogen.

18g of water in liquid state is
obtained by heating 18g of ice.

18g of water is completely
converted into vapour state on
heating.

18g of water freezes at 4°C to give
same mass of ice.

An element X has 7 electrons in its L
shell. What is true about the element
X?

L.

It belongs to period 9 of modern
periodic table.

\/f( Its atom contains 9 protons.
11I. 1t has a valency of 7.
V. Its atoms can accept an electron to

b —

tad

acquire noble gas configuration.

. (Iyand (I1)
. (1D and (II1)
. (Ily and (IV)

A A (1) and (IV)

2

17.

18.

f= o & F9-w ‘somE g fae’
w1 ITgE IR GG FW@ T (T
THAA O=16;H=1)

1.

16g SRS Td 2g TEGISH &

gasE @ 18g 5 & Fmion

18g o ! TRA FH W 18g FHHE
aeeey] § 9 Wi Wil

18g =1 | TH FH W T FI
# ety erawen H 9REd |

18g /@ @1 4°C W ferfmwn g
a3 ®1 9 & afEe)

T A X ¥ L R O 7 e €,
I X & fau #H-8 v o €7

IL.
111.
Iv.

SR

qg ayfi® Ed WROM % od
A H EE B

TS WA W 9 WeE el <
TH FASED 7 B

TEH T TH SR e
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(1) T4 (I

(I q=0 (1)
(I T (1V)
An T (V)



19, The reaction between carbon and
oxygen can be represented as

C)+0y,,——CO,, +heat

Xg)

In which of the following type(s), the
above reaction can be classified?

4 * Combustion reaction
Il. Displacement reaction
[11. Endothermic reaction

\/W . Combination reaction

1. (I} and (1II)

(I, (Il1) and (IV)
3. (I)and (IV)
4. (I) only

20. A metal carbonate X on treatment with
a mineral acid liberates a gas which
when passed through aqueous solution
of a substance Y gives back X. The
substance Y on reaction with the gas
obtained at anode during electrolysis
of brine gives a compound Z which
can decolorise coloured fabrics. The
compounds X, Y and Z respectively
are

A. CaCOj, Ca (OH),, CaOCl,
2. Ca(OH), Ca0, CaOCl,
3. CaCO;, CaOCl,, Ca(OH),
4. Ca(OH),, CaCO;, CaOCl,

N
N
, J
y X 4+
-
\JQ S\T‘— U .‘ 3
\\, A X -
XN it
W = =
+ LT
o N
“J N O
& s -

9.

20.

w1 Ud A F A5y aifafear w5t
frefmm femn s 2-
C(,,+02(x,—-—+C02m+m

fe F 9 fea vl @ sifafeasd o

3" Afufpan &t ofipa fem s v &2
1. & sl
1. faremm aifafewn

1. et sifwfen

V. gaeA Afafaa

(1) T (1)

(D, (1) T (IV)

(V)

*ad (1)

bl S A

U uihas SEAE X, T |fs ond §
Fr M w st ARy
e % Wl fae © vaErfed @ §
@ X W g 1 e Y, @ o
& fogm Uved g0 @' W W en
et Yo d sfufrm W A 2z 2w f)
Afe z G H9i F e IR T
? Aifies X,y 7oz wmn &

1. CaCOs, Ca (OH),, CaOCl,

2. Ca(OH),, Ca0, CaQCl,

3. CaCo0;, CaOCl,, Ca(OH);

4. Ca(OH),, CaCO;, CaOCl,



m

e asa ebes o

21. A salt can be produced by reaction 21,

between

A. aweak acid and weak base.

B. metal oxide and water.

54 metal and a mineral acid.
D. metal oxide and a mineral acid.
1. A,BandC
2. BCandD

_3-C,Dand A
4. D,Aand B

22.  Which of the foliowing is true about  22.

the two statements?

Statement I : Reactivity of aluminium
decreases when it is dipped in nitric acid

Statement II : A protective layer of
aluminium nitrate is formed when
aluminium is dipped in nitric acid.

I. Iis correct but II is incorrect

2. [isincorrect but II is correct

(_3~Both the statements are correct and
11 is also the correct explanation of 1

4. Both the statements are correct but
11 is mot correct explanation of I

Q & £
OY A vV
v g \(,\ &
' Q( ‘@X\(
4 /[/ro

wan & = & e sfufen /@ @0

3w & foe fe F @ w0 w2

wYA | : Tt w) SR wEieh
d § g W RA | I

FYA 11 : W gtEe ® Rien o=
¥ gam v & @ 3§ W ougiutam
Mg F WRRER w@ I IR Q)

1. HUE | TS W YA 1T 2
2. FUR |7 § g HUA [ 6 R
3. I wuA W@ € uw we I,
®eA [ H W8l =en 9

. wum wE ¥ oaw R o,
FoA 19 9 srEn T

=S



23.

24.

25.

A silvery white metal X reacts with
water at room temperature to produce
a water soluble compound Y and a
colourless gas Z. The reaction is highly
exothermic and the Z catches fire
immediately during the reaction. The
solution of Y in water on reacting with
stoichiometric amount of dilute
solution of hydrochloric acid gives a
solution of pH = 7.0. The compounds
X,Y and Z respectively are:

1. Al, AI{OH); and H;

2. Ag, AgOH and H,
3 K,KCland H,

4. Na, NaOH and H;

A compound X is obtained by the
reaction of alkaline KMnQ4 with
another compound Y followed by
acidification. Compound X also reacts
with compound Y in presence of few
drops of H,SO4 to form a sweet smelling
compound Z. The compound X, Y and
Z are, respectively

1. Ethanol, Ethene, Ethanoic Acid

2" Ethanoic Acid, Ethanol,
Ethylethanoate

3. Ethanoic Acid, Ethanal, Ethene

4. Ethanol, Ethanoic Acid, Sodium
Ethanoate

Which of the following pairs of
compounds of carbon will undergo
combustion as well as addition
reaction?
1. C(I:L;and C2 H(,
2. CzH(,O and C;Hgo

\_/3/ C2H402 and C}H(,O
4, Cszand C3H6

23.

24.

25.

T ©d @d U R ug X 99§ F
g W Afafed w1 w9 § fadm A
Y e ¥R N z Tt @1 9w sifafe
Hfa Fomadt 2 qen z sfafem & @
saferd B o o1 A Y @ senE
frerd  TRgeEfE o W
woefafea aer ® afafear e
pH=7.0 F1 foerm 2an €1 4w X, Y e

ZHI9: 2

1. Al, AI(OH), @1 H,
2. Ag, AgOH a4 H,

3. K, KCl3en H,

4. Na, NaOH @l H,

&id KMnO, W v =1 stfufea &
TEM SR W AR X W gl
3 TR oA Wt g8 g3 W
Iufeefa § difie X, A v § sfufe
H AR TR AN Z T 21 s
X, Y 991 ZHEW: ¥

1. e, wiF, AR e

ARSI, TEA, TfieeEiee
TS 370, UIAe, UeA
WA, UHARE 3T, difeam
T

bl N

fm & @ wER F AQfi W
HE-T I Teq wE AW A Hfatw
m?

1. CH,99 C,H,

2. CHO0a=: C;H,;0
3. CH, O, T C3HO
4. CH,d94 C;H,
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26.  Ancelement X combines with hydrogen 26,

to form a compound XHj. The element
X is placed on the right side of the
periodic table. What is true about the

element X?
éﬂ?@ Has 3 valence electrons. Vj@"(
B. Isa metal and is solid. {Lg’)
€ Is a non-metal and is a gas.
B Has 5 valence electrons.
E. XH; reacts with water to form a
basic compound.

1. A,BandC
2. B.Cand D

”.‘v./.C, Dand E

4. E,AandB

27. An element X (atomic number 12) 27

reacts with another element Y (atomic
number 17) to form a compound Z.
Which of the following statements are
true regarding this compound?

“+-Molecular formula of Z is XY

- Tt 1s soluble in water
I, X and Y are joined by sharing of
electrons
[t would conduct clectricity in the
molten stale

1. (lIyand (II1)

T T X TEged A am W Afw
XH, 996 21 9@ X o7ad oo ¥ ¥
T @ T | X% T o ue B2

Y 3 G gelE E

og U ¥ aun IM 1

Tg 3vIg ® A A R

TaH 5 HENt gela B

XH;, 5@ @ afafean & grda A
& 2

A, BT C

B.CT D

C.DT¥T E
E.ATY B

m o o w »

.

T o X (U] & 12) 34 g Y
(wny wem 17) § sfufEaw =
s z 2w ¢ A 2z & fou fm & @
FH W wYT T &2
| Z 1 SEA XY,
1. 78 wiel | foora @

I, X @ v soaa o gEed 9 38 2
IV. 3Tt e araen © foRp@ 1 =
B

i, (1) 3941 (1)

2. (hand (11D 2. (hy3a«m (1
3. (h. b and (1V) 3. (), (ill) =N (1V)
\«4./(])u:1(i(IV) 4. ()3 (V)
U
S Mg v
<
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28.

A ship sends a sonar wave to the sea
bed which is flat and measured several
times over a large area. One day the
reflected sound wave takes longer time
than in previous measurements. The
possible reason is:

¥/ the frequency of the sonar ‘wave,
generated by the equipment is
lower than previous measurements.

2. there is a solid object of large size
in the path of sonar wave,

3. there is a huge air bubble in the
path of sonar wave.
4. the loudness of the sonar wave,

generated by the equipment is
lower than previous measurement.

29. Which of the following ray diagram is
correct?

12

28.

29.

4)

TF U5 W GO P R W2 &F ¥
I AR W W g & | I Wae
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30.

31

A concave lens always gives a virtual
image. In optical lenses worn by
humans which of the following
statements is true?

1. The lens can never be concave.
_2 In some cases the lens can be

concave if the focal length is much
larger than 2.5 cm.

3. All focal length concave lenses are
possible.

4. All focal length convex lenses are
possible.

A geo-stationary satellite is orbiting
around earth at height of 30,000 km
in circular orbit. The radius of the
earth is taken as 6000 km. The
geo-stationary satellite comes back
to its position after one revolution
in exactly 24 hours. Let the
acceleration due to gravity (g) be
10 m/s’ and mass of satellite be
1000 kg; calculate the work done in
12 hours when moving under
gravitational force.

1. 3.6mx10")
—2:2rx 72 x 10™ ]

3. 1.8nx 10"}

4. 0J

1
1 0
w = 10 X 2.4X%
o 24 320

13
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31.

mmﬁmaﬁmw@aﬁaﬁ@féﬁ
U § 4 F7 9 FF 59 2

1. da w4} eraaa =Y @ TFa

2. %o gl 4 o e a@
UFa ¢ W 3HH! BiHd g 2.5cm
g atfys @ =few

3. Wt BIFA I & sEEa oig W
&

4. W ®iHE g & A HY GHI
&

& y-fer Iume el & uf@: gesR
FH ¥ 30,000 km F FIE W YR @
2) geaft =} e 6,000 km femm
3w 9 Rem 3R U feEW %
T 39 WF W HE 24 " H Ay
AW B EEE ©RE Hw HF
10 m/s® @ IUUE I FATA 1000 kg
HEH T 96 % 39E § T w3
T ITRE W 12 ¥ # fpu ® e @
Ifema sifeQ

3.6mx 10
2nx7.27r % 10M)

1.8n x 10" )
0]
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32.  Consider a simple circuit containing a
battery and three identical
incandescent bulbs A, B and C. Bulb A
is wired in parallel with bulb B and
this combination is wired in series with
bulb C. What would happen to the
brightness of the other two bulbs if
bulb A were to burn out?

—t7 Only bulb B would get brighter.
2. Both A and B would get brighter.
3. Bulb B would get brighter and bulb
C would get dimmer.
4, There would be no change in the
brightness of either bulb B or

bulb C.

33.  Three different circuits (I, II and III)
are constructed using identical
batteries and resistors of R and 2R
ohm. What can be said about current /
in arm AB of each circuit?

32. @ U 99 aYeW w9 A, B @491 C @
T 42 o WY T W 9ug FY FEE
HITY T A T ¥o9 B THRR HH H
A € 9 TR T WA 9w C &
WY S0t R A I 8 Tod A S W €
S @ S § QA A godl w THE 9§
F gitEdq gm?

1. ohac o B 3ifus =meem

2. T wo= A @en B 3ifue 9meRn)

3. 9w B oifte wHelel BN SEiR
o= C o 7

4. < weai B 3R ¢ § 9 el sft s
Fl THE W P TE T =W

33. §uH 2f@l W R 3R 2R ohm *
TR wiagal & SyEm @ A fafu=
aftey (1, 11 3R 1) 5978 ™ € v
qftgy ®Y AB =1 ® waifeq w0 /&
9 ¥ F HE W Wehal 22

2R,

A R R R R R R R R R
£ ]‘ %23 %m %23 %R EI;R %m %;R_ %m %2& %23 %R
B ’ B AL ,
, .

I oy

& ¢
A R R R R R

E]’ 2R 2R <SR <K 2R

i s¢

2R 2R 2R R

B N
ERRRR 1
1. h<h<h. oA
(&‘(‘
2. h<h<ly.
31 = I]] = Im.
4. I>h= o
/S"
et T Ky
™

z—j 14

h<h<hn.
I<hr<hn.
h=h=I
I>hy= In.
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34. A uranium nucleus at rest decays into a
thorium nucleus and a helium nucleus,

as

shown below. Which of the

following is true?

1.

2.

25 23] 4
»U—2Th+ ‘He

Each decay product has the same
kinetic energy.

The decay products tend to go in
the same direction.

3" The thorium nucleus has more

momentum than the helium
nucleus.

The helium nucleus has more
kinetic energy than the thorium

nucleus.

35.  The figure below shows the position of
aballattr=0,¢=1s,t=2s,1= 35
andt=4s

a

34, fr= o <ofd sER fed fer i i
F fowed uE uifmm Afws @ difesm
Tifires o g &1 Fr= § @9 @ w22

235 23] 4
SU—2Th+ 1He

1. va% faufen wqd &1 fas ool

Tu[ 2

2. fomfen wief w & fan # ofa wd

%1 wgfa @ g

3. aifgm Aifs =1 gam Eifeaw Tfvs

F adan afusw 2

4. Eifem afws &7 e S wifEw

fess 1 adan stfus @1

35. fmfa,r=0,t=1s1=2s1t= 3s
W =45 R feet e = Rl a1

t=1 1=

@ &

Position of ball at five successive times
g wEv: g W 0T &1 Rl
P g Qw8 @ mw ferfa x(

Which of the graph below is a possible
graph of the position x()?

D
X
.0 t
iy P
x
o 7
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36.

37.

The graph shows position as a function
of time for two trains A and B running
on parallel tracks. For times greater

than ¢+ = 0, which of the following
statement is true?
A
5 B
= i
8 |
a. |
I
b
1 time
0 fR

. At time tg, both trains have the
same velocity.

2. Both trains speed up all the time.

3. Both trains may have the same
velocity at some time earlier than
Ig.

4. Graph indicates that both trains

have the same acceleration at a

given time.

The figure shown below depicts the
distance travelled by a body as a
function of time.

rrrrrrrrrr

204 -k bbb bbb
PN T QU RN NN A 0 ¥
R SN QU RL I U A I
e |d4dda Al
PSS LT LT
S10b bbb bbb bbb
§ peb-bbbbEbb
I R A
F"F“r-r-r “r*r*r*r-r-
RN AU

1 1 1 1 1 [

10 20

Time (in sec.)

The average speed and maximum
speed between 0 and 20 s are
1 m/s, 2.0 m/s respectively.

2. 1 m/s, 1.6 m/s respectively.
3. 2.0 m/s, 2.6 m/s respectively.
4. 1.3 m/s, 2.0 m/s respectively,

A5
w

8 B

16

36, WU Am W ol @ A @R B
tomieai it feufa =t 799 & weA &
Y ome §gutm? =0 @
M s s fu fmmddash @
YA T 27

A
B
IE |
1
|
I
I
! w
O !
1wy W, S Yo & A
T B
2. <l t@mieal Y nfa gt aual w
¥ © 2
3. U8 g § Ed fR e W A
mfgal % an A @ gha €

37.

4. MF & FER, I TfeR &
0 R 4 ™ wma womEm §

T & FAT & ®9 § RO o gw

T &t T @ fra fay F qwid @
7} IR R R R
R Y
A phebbebebebb b
E DR At
T I Y
et i dot I
% [EddtAadaa:
SERPLAARNERE
e i
10 20
o (SFE )
0¥ 20s % 3N 4 oiga wd
ey 99 2

1. 699 1 m/s, 2.0 m/s
2.%09: 1 m/s, 1.6 m/s
3.0 2.0 m/s, 2.6 m/s
4. H7: 1.3 mis, 2.0 m/s

S/47 TAT/13-HINDI-SAT-2B
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39.

A hypothetical planet has densityp.
radius R, and surface gravitational
acceleration g. If the radius of the
planet were doubled, but the planetary
density stayed the same, the
acceleration due to gravity at the
planet's surface would be :

1. 4g
2. 2g

3. g

L4 802

Three rings P, Q and R are dropped at
the same time over identical hollow
magnets as shown below :

P Q

38. TRl of@feuq T8 1 WA o TR

39.

AU TAE e W g €1 T T
# T @R gL ™ T H A H
o FA W, e F FAE | e =0
B

1. 4g

2. 2g

3.2

4. gi2

fo ® TO FTER d el P Q T
R %! THA @@ Puhl W TH & a9
w figen S @

R

A
Plastic ring «— (= @ @ ——» Copper rings

s T (T
N N
5 LB

Which of the following describes the
order in which the ring P, Q and R

reach the bottom of the magnet?

1. They arrive in the order P, Q, R.
2. They arrive in the order P, R, Q.

3. Rings P and R arrive
simultaneously, followed by Q.

w4 Rings Q and R arrive
simultaneously, followed by P.

17

ST T
N

S
.

£ 4§ B W FY9 ae@l P, Q du
R g% # 70 W e & A
zgifar 272

I. A P.Q.R% &0 ¥ e 2

2. 4P.R,QF A ° WM T

3. o™ Padl R T WY TEe § e
aed Q 1% Hl

4 T Q@M R UF WY WEE ¢ au
e P AR H



41.

40. An electron moving with uniform
velocity in x direction enters a region
of uniform magnetic field along y
direction. Which of the following
physical quantity(ies) is(are) non-zero
and remain constant?

¥y
A

—_—

€

L. Velocity of the electron.
. 1. Magnitude of the momentum of the
electron.
‘Ilt. Force on the electron.
IV. The kinetic energy of electron.

l. OnlylandIi.
2. Onlyllland 1V.
3. Ali four.

4. Only Hand IV,

An open box is made from a square
lamina of side 12cm, by cutting equal
squares at the corners and folding up
the remaining flaps. The volume of
this box cannot be

1. 115c.c.
2. 120 c.c.
3. 125¢cc.
4. 130c.c.

40. x fam 9 wF wwm 9 9 nfa www gan
T WRA Ry o § w owm
TaFE 47 F ou w5 ) e d e
o sdiftw (e s ud fer @
HGE

——x

€ —

1. TR H A
[l. SAREA & Fa # 9fmm

1. 389 | 7w
IV. =T =t ifaw o=l

1. Fae 1aen I
2. @Haad [l aw [V
3. |} IR

4. Faa llaw IV

4. 12cm HST 9 FHER TR & AR
HH | TOE T FR W T 9 ol
F A T TEH Ge wFd T S
21 34 T F sEed W 2 g

l. 115c.e.
2. 120c.c.
3. 125¢c.c.
4. 130c.c,
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42.

43,

44.

45.

A has a pair of triangles with
corresponding sides proportional, and
B has a pair of pentagons with
corresponding sides proportional.

S = A’s triangles must be similar
S; = B’s pentagons must be similar

Which of the following statement is
correct?

1. §,; istrue, but S; is not true.
2. S, istrue, but S, is not true.
3. Both S, and S; are true.
4. Neither S| nor S; is true.
A ABC is an equilateral triangle of side
23 cms. P is any point in the interior
of A ABC. If x, y, z are the distances of
P from the sides of the triangle, then
X+y+z=
. 2+\Bems.
2. S5cms.
3. 3cms.
4. 4cms.
Which of the following numbers is the
fourth power of a natural number?
~1. 6765201
2. 6765206
3. 6765207
4. 6765209
The square of an odd integer must be
of the form
1. 6n+l
2. 6nt+3
3. 8n+i
4. 4p+1 but may not be 8n+1
19

42. A faqe w1 7w 2 foget g e

43,

44.

45,

THUE & daw B duwysi w1 gH @
foest g o guma §

S =A% fays guFv 79 =fen

S,=B % Yuus §9&Y ¥ =fEw

e w5 v &2

1. S, 9 2 fipg S, oa &1 2
2. S, efpq S, g T 2
3. 3 S, W S, A €

4, AW S, TA S, Ha T

A ABC TH wwarg fage ¥ fmat s
23 cms. 21 B9[S ABC & 3T P &1
ﬁﬁ%luﬁx.y,zﬁﬁpﬁfﬂﬁ@lﬁ
Wﬁlﬂ@@ﬁ%ﬂi x+y+z=

1. 2+3cms.
2. Scms.
3. 3cms.
4. 4 cms.

= demst o -9 den T
wem # wgem 2

I. 6765201
2. 6765206
3. 6765207
4. 6765209

fayq quiss %1 = 79 ®9 F &b

on+1
6n+3
8nt+l

An+| Toheg 8nt| =&l @ WAl

W=



46.

47.

48.

49.

ABCD is a square with side a. With
centers A, B, C and D four circles are
drawn such that each circle touches
externally two of the remaining three
circles. Let & be the area of the region
in the interior of the square and
exterior of the circles. Then the
maximum value of 8 is

1. a(l-7)

The value of tan1° tan2° tan3°. .. tan89° is

o L&JN:—
[\)l;—-M'—‘O

ax’ +bx+c =0, where a, b, c are real,
has real roots if

1. a, b, c are integers.
2. > 3ac.

3. ac>0and b is zero.
4, ¢=0.

An open box A is made from a square
piece of tin by cutting equal squares S
at the comers and folding up the
remaining flaps. Another open box B
is made similarly using one of the
squares S. If U and V are the volumes
of A and B respectively, then which of
the following is not possible?

U>v

V>U

Uu=v

minimum value of U > maximum
value of V.

B =

46.

47.

48.

49,

20

o
],
TN
o~
F o |
RE
S

3. d(nx-1)
g T
4
tan1° tan2° tan3° ... tan89° &1 AA
1. 0
2.1
3.2
PR
2
a’+bx+c=0, V@& a, b c AEEGH
gEd § @ suw e qa e Al
1. a b cquis &
2. ¥ >3ac.
3. ac>0ad bYA 2
4. ¢c=0.
T FHR f % gHS & 9 hAl 4

aF W S FRE q 9§ Ted i
HEH ©F Gol 94 A T 9 ¥
T o Pl T i S ¥ @ 3
T q B w W & Ak U qen
V, A B % %A omed § @ fe
¥ TR g T 22

Uu>Vv
v>U
U=V
U = 9[> V #1 Afudad 91

oW —
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50.

51.

52.

Which of the following statements
hoids always?

Every rectangle is a square.
Every parallelogram is a trapezium
Every rhombus is a square

W=

Every parallelogram is a rectangle

Which of the following polygons are
uniquely determined when all the sides
are given?

1. Quadrilateral
2. Triangle
3. Pentagon
4. Hexagon

There are several human beings and

several dogs in a room. One tenth of
the humans have lost a leg. The total
numbers of feet are 77. Then the
number of dogs is

1. not determinable due to
insufficient data

2. 4

3. §

4. 6

21

50.
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52.

fr § FH-W R wa 4 2

1. wei% amEa U o #
2. Woe W wWgde TH Hee

e B
3. wew wHEgdd © o #
4. YT WHIR YIS T A

ey wgel § BT age A ¥
Q v fean o & Smfs T o
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1. =g
2. @
3. 4aygd
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53.

54.

All the arcs in the following diagram 53, fm= fa & s =y sfam &) 3w o
are semi-circles. This diagram shows : S & fermam
two paths connecting A to B. Path | is A Aﬁ BR Wed & ferd i
the single large semi-circle and Path I ™ 2 " 1 T 9 afqm @ wats
consists of the chain of small semi- At 11 arddgal + Een Ed)
circles.
A B

!. Path I is longer than path I 1. arioet 119 o @
2. Path | is of the same length as Path 2. mt 19pf 11 & R @

I
3. Pathl is shorter than Path [l 3 $ L= :1111? st 8 34
4. Path | is of the same length as Path 4. 1o 11 79I {ﬂ ’

I, only if the number of semi whee afs Adgal wt 9en 4 ¥

circles is not more than 4 arfas T8t &1
One integer is chosenout of 1,2,3, ... 54, 1,2,3,..., 100 ® TF s 57 o 2
100. What is the probability that it is - -
neither divisible by 4 nor by 6 WAF4MAA6A R B =

wifaar 2
1. 0.59
2. 0.67 1. 0.59
3. 041 2. 0.67
4. 033 3. 041
4. 0.33
55.

\/(uﬂ’))z +\/(b—u)2 is
Always zero

Never zero

Positive if and only if a>b

il e

Positive only if a= b

Ja-b) +fib-ay %

1. ¥4 I

2. & 3= w=i

3. "9 AfE 3 shae Al o>b
4, 9AITF Had Ak a# b



56.

57.

58.

59.

A solid metal sphere of surface area S,
is melted and recast into a number of
smaller spheres. S, is the sum of the
surface areas of all the smaller spheres.

I. §>8§;
2. § > 8§
3. S] = Sz
4, S; = S; only if all the smaller

spheres of equal radii

Which of the following is an irrational
number?

V41616

2. 23.232323..
(1+3) -(1-+3)’
NG

4. 23.10100100010000...

p—
.

3.

Re.1 and Rs.5 coins are available (as
many required). Find the smallest
payment which cannot be made by
these coins, if not more than 5 coins
are allowed.

3

12
14
18

B =

Median of a data set is a
number which has an equal
number of observations below and
above it. The median of the data
1,9.4,3,7,6,88,12,15 is

1. 7.5

2. 7

3. 8

4. any number between 7 and 8

23

56.

57.

58.

59.

TF S, Y S9Rd e Wi % MR
T fooEmes @R el § gien S 2
s, @t DR e % g S ®
am 21 a9

Si > 8
S > Sy
S = §;
§, =S, 4fe shaw I BR M WA

femai & 2

= -

fr= ¥ A #19 swfey den 22
1. J41616

2. 23.232323...
(1+3) —(1-+3)'
NE

4. 23.10100100010000...

3.

Re.l @4 Rs.5 & foaeh 3oy ¢ (Foad
% Iq) 4fg 5 foesl @ atfus o=
3 F orph T § A v §
W ward|

3

12

14
18

el

frdt arwe # wiem w e @
fagds IW aw A4 deod F: e
TR 1,9 4,3,7, 6, 8, 8, 12,15
AiwS F TEAH B

3 00~

qu1 8§ & d9 FIE gE



60.

61.

Suppose you walk from home to the
bus stand at 4 km/h and immediately
return at x km/h. If the average
speed is 6 km/h then x is

8km/h

10km/h

12km/h

cannot be determined unless the
distance from home to bus stand is
known.

bl A

From about 13" century to the time of
the French Revolution sumptuary laws
were expected to be followed strictly
to:

1. regulate the behaviour of the

royaity.
% regulate the income of people by

social rank,

3. control the behaviour of those
considered social inferiors.

4. provide religious sanctity to social
behaviour.

24

60. WA &« f& 9 =W

61.

WIE ¥ W &
4 km/h ® 7fa 9 R € 3k T
X km/h § I e € 3 sitwm
6kmhe @ x

8km/h
10km/h
12km/h
T8 fuif@ fear o1 9@ 9@ @

WH T RS FH g TR A wW A

BN

aAT 136 9t 9 sl W @it
9% @9 Wt H H AEH HeR Q@
o s o arfsw

1. 9 SfER #1 sqaer fFemree )

2w fqad & orgEr @ &t
3 FraaEe wH

3. dmifas &9 ¥ = 993 9@ 9
arl % =R W R @)

4, mwmmm
T R
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62.

63.

Choose the correct response from the
given options.

On 3 March

1933 the famous

Enabling Act was passed to:

A

establish dictatorship in Germany.

\/b./ give Hitler the power to rule by

C.

decree.
ban all trade unions.

d. ban all political parties and their

affiliates.

¥ only aand b are correct

2. only c and d are correct

3. a, band c are correct

4

. only d is correct

Enclosures in England were seen as :

1.

3.

hindrance to agricultural expansion
and crop rotation.
- hindrance to commercialization of
agriculture. _
necessary to make long-term
investment on land, agriculture and
to plan crop rotation to improve the
- soil.

4. necessary to protect the interests of

those who depended on the
commons for their survival.

62.

25

63.

ﬁﬂﬁ-ﬂ‘@ﬁﬁﬁﬁﬁuﬁﬂmﬁn _
3 W 1933 w W ‘vefan ww'
mmﬁmwmm

a.

b.

Sl S

S F AR I € W
feeeR T TR T FE VA FA
% wfw faa s

T 3z gheA T HieRE W R S

o+t gertfae <6l A S
Al *t et i S

ae (a) SR (b) & R
@ (c) 3 (d) w2
(a), (b) 3R (c) &
Fae (d) @& R

i ¥ Pt S (TRARR) T
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1.
2.
3.

Hft faar it wue = € S
Ffe % STEEEET |

qf st i o o faw @ fae
7on Ffe g A e FH 8
woe 9% F e 9an & fag
AETTH
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I sfea & fag gEFg @ W
fdfz 2
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66.

3

The Balkans, which was a serious
source of nationalist tension in Europe
after 1871, was a region comprising of:

1. Romania, Germany, Poland,
Bulgaria.

2. Romania, Prussia, Greece, Croatia
and Serbia.

3. Serbia, Austria, Bulgaria, Slovakia
and Poland.

& Serbia, Bulgaria, Greece, Croatia,

Romania. -

65~ What was Rinderpest?

1. A disease of cattle plagues that

spread in Africa in the 1890s.

Bubonic plague which spread in

the region of Maharashtra in the

1890s.

3. A type of cholera that spread in
Assam in the 1890s.

4. A devastating bird disease that was
imported to Italy from British Asia,
through chicken meat.

Which of the following is a correct match?

I. Rashsundari Debi - Istri  Dharma
Vichar
2. Ram Chadda - Amar Jiban
37 Kashibaba - Chote Aur
Bade ka
Sawaal

4. Sudarshan Chakra - Gulamgiri

26

64.

65.

66.

F 1871 % AR [ ¥ YAt @99 T
TH TR Ha ST 45 o 39 845 o
frefafae 29 sm &

1. erfan, sf, diele, gemfan

2. Y, g, e, wiftmn o
wfsfan

3. wfefn, siifegen, semftan, wafemn
T Ui

4. wfda qemfan, M, wifr, ot

fleww =0 91?

. SFEd & < H W S O1890 &
TE | 1l | e em

2. qEIFT ©m St 1890 B TN H
HERTE | en om

3. 99F H TH YHR S 1890 B I0F
o 3y o e o

4. Fofedl =1 @& W dn W gl &
| (fas Wie) & Trem 9 fafew

o | et s
frafafan & =6 @ fiem ==t &
. Ty & - @ g faen
2. WM EEE - W e
3. wEf AT - BR iR w2 W gam
4. ¥ 9w - e
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67.

68.

69.

Printing created possibilities of wider
circulation of ideas. Who of the
following hailed printing as the
ultimate gift of God?

Martin Luther
Menocchio

Roman Cathelic Church
Gutenberg

PS-"J.&-‘.-

The Forest Act of 1878 divided forests into

1. reserved and protected forests.
2. protected and village forests.
3. bio-sphere reserves and wild life

\A/sguctuaries.
. reserved, protected and village

forests.

Consider the following statements and
identify the correct response from the
options given thereafter:

Statement I: Hitler said 'In my state
the mother is the most important
citizen’.

Statement II: In Nazi Germany while
boys were taught to be aggressive,
muscular and steel hearted; girls were
told that they had to become good
mothers.

1. Statement | is true but statement 11
is false.

2. Both statement ! and statement [I
are true but statement 11 is not the
correct explanation of statement 1.

3. Both the statements are false.

14._-Both statement | and statement 11
are true and statement Il is the
correct explanation of statement .

27

67. BUE A foui & =ON% F9R * G4

68. T 1878 F HRE W I Fel @l A
vl | fawfaa faan:
I. gifym oo d@ifem s
2. Wifwa wd i % e
3. So-dew fem wH 94 9 AR
4. glya, diferd wd g & e

69. fr=fefen $uf T faar =¢ 3k ag o
feu T fawed ® WE # wEEE Wi
FY I: feeem 3 w7 ‘M = F WA
TR Wyl Al @)

FYT I : et ol A wes W
3R, Vel 3R %2 &9 = B
foamrn s/ on; wsfeal = w80 ™ fE
3% =8 " @ 2

I, ®YF | G & W FHeA [ @ 2

2. ®YF | 9w F 1 9 W9 T, W
YA 1| F99 | #1941 =En 77

3. A Foa e B

4. wUA | 9w wuF [ a9 T § ok
& 11 F9F | #t & = 2



70.  Consider the following statements and 70, Fefafe wol W forar & ok 9 o

choose the correct response from the fen T fawed ¥ WS F TWAR Hi:

options given thereafter: [ . aiefraf T w
Statement I: The major cricket fFme Tide ‘uagEeTa’ (FRTR)
tournament of colonial India, the fafe & o T, afew fafas s

‘Quadrangular’ did not represent
regions but religious communities.

g &1 wlafafre w5

Statement II: The victory of the FYA H : TF fwde I ¥ T 1923 F
'Hindus' in the 'Quadrangular’ cricket . . . - bz
tournament in 1923 was equated by a ., (FISTR) B ff
cricket fan with Gandhiji's war on dn ‘feR WS g e
'untouchability’. # favg 7t St & g§ @ *
—+" Statement I is true but statement Il 1. FUF 1 TR T W FUT 11 T 2

is false.
2. Statement I is false but statement 11 2. ®UF 17 8, W HYE (1T )

1S true. 3. ®eA [ aen ®ud 1194 W& €, g

3. Both statement | and statement 11
are true and Il is correct Fe [ FoF | 1 e =8 2

explanation of statement 1. 4. FUA 180 o 11 SA @ €, fRg

4, Both statement I and statement 11 .
are true but statement Il is not the o 11 e [ H1 W e T %'

correct explanation of statement L.

71. Match the following columns : 71, frofafes @t =1 foas &1
Column A Column B T A WY B

(I) |Ambedkar established the|{A)|December, () [oRest A < a1 wa (feve|(A) [Rawn 1929

Depressed Classes Association 1929 S ——
(II) |Gandhiji began the Civiﬂ (B) |August, -

Disobedience Movement L [1930 (II) it < 3 wmfes s sAcken|(B) (3 1930
(11} |Gandhiji ended the Civilj(C) [March, awy fw

Disobedience Movement 1930 (I} [nfet =it A it sraa Aiges =w@|(C) e 1930
{IV) |Congress adopted the demand|(D){March, T

for ‘Puma Swargj’ 1931 (IV) [+ 4 ‘i @ w @ w0 |(D)[Ard 1931

L. (1)-(C), N - (D), (i) - (B), (IV}- (A) I.
~2-7(1) - (B), (1) - (C), (1)) - (D), (IV) - (A) 2.
3. (-(C).AD-(A), (I)-(B), (IV)-(D) 3.
4. (- (D), (- (), () - (B), (IV) - (A) 4,

1) - (C), () - (D), (1) - (B), (IV) - (A)
1) - (B), (- (C), (- (D), (IV) - (A)
I}- (), (1) - (A), (- (B),(IV)- (D)
I)-

(
(
(
() - (D), () - (C), (11I) - (B), {1V} - (A)
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72.

73.

Consider the following statements and
choose the correct response from the
options given thereafter:

Statement 1: The Act of Union 1707
led to the formation of the "United
Kingdom of Great Britain".

Statement II: The British parliament
was henceforth dominated by its

- English members.

1. Both statement [ and statement Il
are false.

‘/2./ Both statement 1 and statement [I
are true and statement Il is the
result of statement I.

3. Statement ! is true but statement 11
is false.

4. Both statement I and statement I
are true but statement II is not a
result of statement 1.

Consider the following statements and
choose the correct response from the
options given thereafter:

Statement I: Traders and travellers
introduced new crops to the land they
travelled.

Statement II: Noodles most likely
travelled from China through Arab
traders to Sicily.

Statement III: Potato reached the
West through travellers and became
the stapie diet of the poor.

1. Statement I and statement I are true.
2. Statement II and statement III are true.
3. All three statements are true.

\A, Statement I and statement II are true.
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72. 1 el w faer wY ot A o fku

73.

U faFedl d WE # wWEE S

FYA 1 : T 1707 & R AE IHEA A
‘ggeE fpem A% B fRA & TeA
+1 Aga fwam

FY I : 39 9% § fafem @6g H
S gH F a99 @

1. FeF [ w11 A T R

2. wed Ao YA ]I g ud € uE
HeA 11, 9 1 %1 wiom 2

3. ®YF | 9H §, | F¥A 1] Tod 2

4. &Y 13w &9 [1 34 @& ¢ feg
FU7 1I, FoA | &1 oo T 2

el oAl W faaR &Y qu 91§ # X
o famedl ¥ 9@t &1 99 A

FY [ ; sl 3R ot 3 9 3t
T ¢ wHdl %) Yol #1 w&l 3 MY
FUF II: 5gd v 2 f& e 9 @
3| S g fawet wgan
FHYA I : sOfEl & g 3] v
e qun WS w1 e WS & T
1. FF 19 FuA 119 2

2. ®wYF 19 woF (1198 2

3. wft fF wem v &

4. HYF 19 FeA W |



4.

75.

Assertion (A): Gandhiji's idea of
satyagraha emphasised on the power of
truth and the need to search for truth.
Reasoning (R): Gandhiji believed that
a satyagrahi could win the battle by
appealing to the conscience of the
oppressor.

Select the correct option from the
given alternatives.

I. Aistrueand R is false.

[Z"Both A and R are true but R is not
the correct explanation of A.

3. Both A and R are true and R is the
correct explanation of A.

4. Both A and R are false.

Assertion (A): The Civil
Disobedience Movement was different
from the Non-cooperation Movement.

Reason (R): People in the Civil
Disobedience Movement were asked
not only to refuse cooperation with the
British but also to break colonial laws.

Select the correct option from the
given alternatives.

1. Both A and R are true but R is not
the correct explanation of A.

2. Both A and R are false.
3. A s false but R is true.

ﬁoth A and R are true and R is the
correct explanation of A.
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74. fER (A) : Wit S ® gEmE ywon 3

75.

4 & v a0 @ & @ #
AETTRAT T SR )

@ (R): Tt St +1 favaw o1 f%
IcdigE F Haem d qfta T OF
TR @8 Sfa g 2

=1 fashedl o @@t fawen gf

1. (A) @& & 9 (R) 7o ©

2. (A) @ (R) 3 @&t € fig
(R), (A) =1 ol =arem 48

3. (A) @ (R) 39 &%t & frg
(R), (A) =t &t =qrem &t

4. (A) = (R) A wem €

R (A) : Tfe saw sEem
FEEAm iged v fa= o

& (R): Tfes s@w oo™ o «ri
¥ Fg T F A Rae fafon was #@
weam 1 % afch iRl s W
IeaAa W Wil

a1 el F |t fawen g

I. (A) ¥ (R) 3 @t € fieg
(R), (A) ® udt =men 48 2

2. (A) @ (R) 3N wem &)

3. (A) Ted ® 91 (R) W& &
(A) 7 (R) & @@ § qen (R),
(A) 9 T8 == 2

18¢
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76.  Assertion (A): Coal is a fossil fuel.
Reason(R): It is formed due to
compression of inorganic material over
millions of years.

Select the correct option from the
given alternatives.

1. Both (A) and (R) are true, and (R)
explain (A) ;
2. Both (A) and (R) are true, but (R)
-does not explain (A)
'\3./ (A} is true and {R) is false
4. (A)is false and (R) is true

77.  Assertion (A): The sun rises in
Arunachal Pradesh about two hours
before Gujarat.

Reason{R) : Arunachal Pradesh is on
a higher latitude than Gujarat.

Select the correct option from the
given alternatives.

1. Both (A) and (R) are true, and (R)
explain (A)
2. Both (A) and (R), are true, but (R)
does not explain (A)
3. (A)istrue and (R) is false
A% (A)is false and (R) is true

78.  Assertion (A) : In India, east coast has
more seaports than the west coast.
Reason(R) : The east coast is broader
and is an example of emergent coast.
Select the correct option from the
given aiternatives.

1. Both (A) and {R) are true, and (R)
explain (A)
2. Both (A) and (R) are true, but (R)
does not explain (A)
3./ (A)is true and (R) is false
. (A) is false and (R) is true
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76. AR (A) : wiuen & a7 2
¥ (R): 9% IS 9Ol & @@l
f &% <@ ®I § T R
e fawedt d ¥t =1 w9 =Y
1. (A) @ (R) < et € 3l (R),

(A) | ARG @ 2
2. (A) @ (R) A w@ € fg
(R), (A) I =am@E & &l
3. (A) w&t # &R (R) 7o 2
4. (A) @ ® wur (R) @& 21

77. fRER (A) : swumw Ry § [k

ToRE ¥ T W e B 2

¥ (R): &= R©Y [ | 39

e W R

o fawedl F @Et &1 99T #

I. (A) 7= (R) <Al 9@t & 3l (R),
(A) F e F4 2

2. (A) q (R) < W&t & fdmg
(R), (A) &} =& T &

3. (A) W&t ? 3k (R) 7o 2

4. (A) Te@ @ 9= (R) WE R

78. faaR (A) : wwg o ofyaddt 92 | sifuw
AR Tl e W F
W(R):@mafwaﬁa%‘aﬁxm
IR T2 F I 2
fr= foedl F @@t @1 v R
1. (A) @ (R) g ¥&t ¥ 3l (R),

(A) 1 =& & S
2. (A) q (R) 3 w@ & frg
(R), (A) = sarem 48 s
3. (A) W@ ? 3t (R) 7o 3
4. (A) 7o 2 wW (R) W& &



79.  Which pie diagram represents India’s 79. |1 2001 ¥ WRA H1 7Y TGS F

age composition in 20017 T T # @ g mE qwtw 32
= Child 8 Child
@ Adult W Adult
O Aged OAged
& Child Child
B Adult M Aduit
OAged | O Aged

80.  Assertion (A) : The north western 80. ¥R (A) : 9@ # Sw-ufred 9w o

parts of India receive rainfall in winter. o ° 99 2 2
Reason (R) : The winter rainfall in . 3
India occurs due to North East & (R): wra o F
monsoon. W—‘ﬁf HHAYA F o F Fw Faniled
Select the correct option from the feu M fawedl & 9 @ o=y =
given alternatives. 1. (A) 7 (R) <1 &t € aen (R),
L. Both (A) and (R) are true, and (R) (A) F =rem w B

explain (A) 2. (A) 3 (R) I w@ ¥ fg

2. Both (A) and (R), are true, but (R) N
does not explain (A) (R), (A) ® =@ & =

3. (A)is true and (R) is false 3. (A) w8 ? 3k (R) Tom &
4. (A)is false and (R) is true 4. (A) Tea ¢ am (R) ¥ 2

81.  Which four major ports of India lieon 81, wra % ¥4 ¥ 9N q&=7 oME @

the Golden Quadrilateral? i (e wfesE) W e 8
1. Chennai, Tuticorin, Mangalore,

~  Marmagao 1. ¥, qiwifa, FeR, sl

. h i, , : .
(2) ﬁ:jﬁ:; Chennai, Mangalore 2 3=, e, e

3. Mamagao, Mumbai, Kandla, 3. TS ‘ﬁ‘ wiega, an

- Mangalore ' T '

LJ/4J‘ Kolkata, Mumbai, 4. wiera, gad, favmamem, a8

Vishakhapatanam, Chennai
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82.  Match the fishing ports indicated on

(=~
(%)

the map of India (I, II, III and IV) with
their respective names.

A. Kakinada
B. Alappuzha
C. Porbandar
D. Tuticorin

82.

YA & wAtaa W Ry T Hwell wheR
& weomel (1, 11, LI 3R IV) %1 399

m 8 fieam =1

I. I-A, 1I-B, I, IV-D
2. I-A, 1B, {II.D, IV<C
3-1C, 1B, 1H-A, IV-D
4 1D, 1B, 1I-A,  IV-C

Which figure relates the trend of
population Growth rate of India from
1951-2001?

83.

BN

1l-A, 1B, IC,

I-A, II-B,  1II-D,
-C, 1I-B, HI-A,
I-D, 1II-B, III-A,

W 1951-2001 % §9 9RT H TFES
gfe # w9t | I @ smw datag 22

/D=

L]

el

IV-D
Iv-C
IV-D
IvV-C



84.

85.

86.

Assertion(A): The Himalayan ranges
show change in vegetation from
tropical to tundra.

Reason (R): In mountainous area with
increase in altitude there is corresponding
decrease in temperature, which leads to
change in vegetation types.

Select the correct option from the
given alternatives.

1. Both (A) and (R) are true and (R)
explain (A),
2" Both (A) and (R) are true but (R)
does not explain (A).
3. (A)is true and (R) is false.
4. (A)is false and (R) is true.

Which of the following methods are
used to restrict soil erosion?

A. Ploughing along contour lines

B. Strip cropping

C. Jhumming

D. Mixed farming

V¥ AandB

2. Aand C
3. Band D
4. Band C

Assertion (A): Although only the
southern part of India lies in tropical
region, the whole of India has tropical
climate.

Reasen (R): Himalaya mountain
ranges protect it from the northerly
cold winds.

Select the correct option from the
given aliernatives.

i. Both (A) and (R} are true and (R)
explain (A)
2. Both (A) and (R) are true but {(R)
does not explain (A)
3. (A)istrue and (R) is false.
A (A)is false and (R) is true.

84.

85.

86.

fER (A) : froeayam et

? g1 o Tl F fr=r <l @1

T (R): Ty & f Fad =t qfg @

qg-ue aeaA i 2, faed aaaf

F YHER F5ed

feu ™ fowedl § @ wd fawew T

1. (A) @ (R) < W&t & a=n (R),
(A) ¥ == S B

2. (A) @ (R) ¥ @&t & frg
(R), (A) =t =&=R & H@

3. (A) ®& 3k (R) Tom &

4. (A) e & aw (R) W& 2

&R0 & Ie4 @ fan Frafafas @9 9
39 fRT W &2

A. GHIA A

W B

¥ P

fafya iy

A 3RB
A gk
BakD
BakC

R (A) : =ufy s w1 faa i
W sl 49 F wga @, @
ARd W} SR WISy 21

T (R): feverm vda gaemd @ 3w
3 Tl @ T=t &

fee 7 fawedl F § vt fawew w T

1. (A) @ (R) 2 w&t & a=n (R),
(A) F ErEn w@ R

2. (A) @ (R) 3 wdl ¥ fFg
(R), (A) %! =& ® @

3. (A) Wt # 3k (R) wem@ #

4. (A) wo@ & 3w (R) Wt &

OnNw

ol A



87.  What does the zig-zag line indicate on
the map of India?

87. WG & "HfaA ¥ €4 ™ aEl-fRE &

N T 22

A

¥~ Advancement of summer monsoon

on 1* June.

2. Line dividing tropical evergreen
and deciduous forest.

3. Water divide between east and
west flowing rivers.

4. Line dividing annual rainfall above
and below 100 cm.

88.  Which of the following feature has
similar geological structure with
Meghalaya, Karbi Anglong plateau
and Cachar Hills?

1. Aravalli Range
2 Purvanchal Hills

3. Siwaliks

4. Chotanagpur Plateau

SIAT TAT/13-HINDI-SAT—4

38.

1. | S I TSHeRlci WA St

2. IoUEHfeTHt HeEER ad quidwEr S
(Sirel) & o fawres e

3. @ oK ufrem & o= ¥ A
qfeal & At ®1 faseE

4. afdw 100 Q0. § srfis IR *A
gt ®i famfsa w6 aen @



89.  Assertion (A): Sex Ratio in India is low.
Reason (R) : Indian society has been
unfavourable to females.

Select the correct option from the
given alternatives.
J<"Both (A) and (R) are true, and (R)
explain (A)
2. Both (A) and (R) are true, but (R)
does not explain (A)
3. (A) istrue and (R) is false
4. (A) is false and (R) is true

90. A pilot takes off from an airport at
15°S latitude and flies 55° due North.
What latitude the pilot has reached?

1. §55°N
2. 40°N
3. 70°N
4. I5°N
917 Which of the following is not a feature

of Indian federalism?

I. The Constitution creates a strong
Centre.

% The Constitution provides for a
single judiciary,
The Constitution provides for a
common All India Services.
The Constitution provides equal
representation to the States in the
Upper House of the Parliament.
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89. ER (A) : Wa o fan sFum w9 2
?(R):meam
a

e T oo F § W faew

1. (A) a9 (R) <4 @& € 9@ (R)
(A), T =aren s &

(A) @ (R) 3F @&t ® frg
(R), (A) =! =arem = @
(A) T& 2 3tk (R) "o
(A) e 2 @ (R) w@t

9. W foquraes 15°S aww W R

TR g2 ¥ 55° IWM B AR I=
IRE H ?1 FRY S1Ey v e

wgan?

55°N
40°N
70°N
15°N

e~

Fefafan § @ S99 9y g9 /9
favhwan Y 32

91.

|. wEuR TF e %% #1 O B
2. Wiaum THA A §F S sgEen 3 Y
3. dfawm § afgw wieim g w5
ST YEH el 2

TEun §6g & Il w5 § fahe
wdl ® FA gt @



92.  Which of these features is not a 92

guiding value of the Indian
Constitution?

1. No external power can dictate to
. the Government of India.
\/f. The head of the State is a
nereditary position.
All people are equal before law,
4. Citizens have complete freedom to
follow any religion.

©)

(9} According to Dr. B.R. Ambedkar, 93.

which of the following is the ‘heart
and soul’ of our Constitution?

I. The Preamble
2. Right to Equality
3. Right against Exploitation
}/4./ Right to Constitutional Remedies

94.  Democracy is considered to be better 94,

than other forms of government.
Which of the following statements
support this claim?

L-AT It is a more accountable form of
government.
-B: It improves the quality of decision-
making.
C. It ensures rapid economic
‘development of citizens.
B It enhances the dignity of citizens.

7 A.Band D
2. Aand C
3. A,BandC
4, B,Cand D
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frafafea ¥ & $F 9rdre sfaum &=
e e e 22

1. #¢ wed uiF e @R | R
T ] Wl

T W@ F1 T% AAERE 2
FIA & guy gt @ geE
AR i Fopedt ot o &1 SR
4 =t @ @A 2

W

| sfimE sidew @ SER Frefatad
q TAR wfaum &1 ‘g sk
seq’ 27

oo,

1. w&a

2. WG F 3SR

3. o % favg sfusr

4. WUt ST9R F1 afysn

THad B WHR $ 3G 9 ¥ wR

A W #1 Frefafed sua § @ @9

™ 9 F 9F TR 27

A. % fus IUEE "R 2

B. u¥ fulg @4 =1 ToEm [war wwm
21

C. 9% i w1 @9 anfdw fawm

gf+fraa w21
D. 9% AR HI TRET W@ 2

A, B3RD
A dRC

A, B 3#RC
B. C 3D

hanlb o



95.

96.

The Constitution of India was

amended in 1992 to make the third-tier

of democracy more effective. As a

result, at least one-third of all positions

in the local bodies are reserved for
women. This is because

1. women are good at managing
resources.

~although women constitute nearly
half of the population, they have
inadequate  representation  in
decision-making bodies.

3. we have many powerful women
leaders.

4. women are obedient and would
follow the constitutional provisions
well.

In which of the following economies

are people more of a resource?

I. Country A with 78% of the
working age population illiterate
and with very low life expectancy

<" Country B with 10% of the
working age population illiterate
and with high life expectancy

3. Country C with 60% of people in
the working age illiterate, but with
high life expectancy

4. Country D with only 10% of
population is the working age
illiterate, but has very low life

expectancy.
77 L Yl
Ot M A K
cO7 Ay

0 oA Ve
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96.

T & Bl W W sifus wwE
T % fau wrdg "faum w5t 1992 ¥
Hyifua fem T qfom wEw e
fremi 0 w1 @ 9 ww foeE w©m
nfeensf & foe smfam feu my sEe
HR -

[. wfeemd SoeAl & g 0
HIe gl T

2. Ty sHEen | afeenst w1 gem
v aneft 2, 3 fofaerd
eesti & wfafafue svafa 21

3. TER 98 3 Wy ®igen At €

4. HfgaTd s B € o Haurfw
WEuHl 1 35 /e e Hi

frafafign steforawens ® wel @

YA ® w9 ¥ Afys g9 SR 87

. 3 A Rl 78% rivie wHEe
forer den reury

2. 3 B Rl 10% wHrRie Saem
firar e iy 2

3. 3 C W& 60% wEvia G
frer, fmg <iufg 21

4. 3W D wE 10% weviE SA"em
fer, T areurg 2
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97.

98.

Which of the following statements is
true of agricuiture in Indian economy
between 1973 and 20037

I. The sectorial share of agriculture in
employment has decreased far
more than its share on total output.

2. The sectorial share of agriculture in
total output has decreased, but its
share in employment has increased.

J " The sectorial share of agriculture in
total output has increased, but its
share in  employment has
decreased.

4. The sectorial share of agriculture in
output has decreased far more than
its share in total employment.

Which of the following can be
considered as  Foreign  Direct
Investment made in India?

A. The TATAs acquire Corus steel
plant abroad.

L/R’ Mr. Donald, an American citizen,
acquires 100 shares of an Indian
listed company.

C. The remittances sent by an Indian

doctor in Dubai back to his
hometown in Kerala.

0. The US multinational Google
opens its fuli-fledged unit at

Gurgaon, Haryana.
1. (A)and (D)
2. (A)and (B)

1}/ (D) only
4, (B)and (C)

97.

)

bﬁ

o)

08.

39

freafafea § 9 FF-T1 S8 1973 9
2003 ® o9 9RAT eforan § Hiy
% 9] § T8 2?7

|. sdfemaeen o e Jamw w1 e
7% qyUl 3 ¥ few &Y gE o
agd stfus frm

2. dyvl IR # iy & feww fiw,
fpg Aok & U feww @9

3. dyuf 3@ | fa w1 fewwm =@,
forg TR o o= fewm fmn

4, qyul 3o ® Hfw w1 fewm o H
T R = gon o wga afew
firm

frafofaa | fod ara o v fagen
19 %1 ITEW WA N EEHA 22

A T g fRY # wRE W Wi @
AR FEN

B. emf@m i fa. SFre g @
gfea wRdE ST @1 100 R TR
gl

C. 3% food & WA SRR g0 B
¥ o g TR F R s

D. smf@l wRUsE™ TR P W
Tfomm = Teuia § aF gl
wafed e @

1. A3RD
A3RB

@®mae D
B alRC

AW



99, We accept paper money as a medium
of exchange because

[. it has gold backing.

%]16 law legalizes it.

3. Reserve Bank of India has precious
metals against which it prints
notes.

4. everyone else accepts it.

100.  Which of the following refers to trade

barrier in the context of WTQ?

[. Restrictions on domestic trade

_~1l. Not allowing companies to do
foreign beyond specific
quantity

«-HE Restrictions on the export and
import of goods

“HV. Restrictions on the price fixed by

companies

trade

. (D), (1) and (111
2 (), (il and (V)

3. (Il) and (IV)

4. (I), (I1) and (IV)

40

99.

100.

T fafva orem & fou st ggr
WiHR wd & FitE

1. 39 @l qeam % a2
FA W Agar 2w 2

e fod o # o geaa gl
€ fome anar w2 98 s 2
Tt T wWEr FW F

fava =R @ (WTO) & e o
fofafaa & 4 S =aur § sEdy #
IoorE Bl 82

I. Hig =R w6t difgayfeEtia s
. wufaf it fafie oo @ afis
fader =mIR FY srEfa 9 &M
TGl & amm-fala W wifw
pincit e

wutl g0 g frufwm @t @ifva
pIncialic e |

(D, (1) 3 (1)
(10, (111 3R (1V)
(1) 3R (1V)

M, aD (V)

ir.

Iv.
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